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=70 dm +4 dm =74 dm
(&) 3km4m= 3 % 10000 dm + 4 10 dm = 30000 dm + 40 dm
= 30040 dm
Mathematics-4 (Term-2)

Exercise-1

2. Cn‘ 3. m 4- Cm 5'

Exercise-2

em=7x 10 mm =70 mm

1S em 3 mm = (15 x 10) mm + 3 mm =150 mm + 3 mm = 153 Mmg

L.Sem=15%x 10 mm =15 mm

7md cm =7 x 1000 mm + 4 x 10 mm = 7000 mm +40 mp
=7040 mm

§dm4cm2mm=8x100 mm +4 x 10 mm + 2 mm

=800 mm + 40 mm + 2 mm = 842 mm

9m 82 mm =9 x 1000 mm + 82 mm = 9000 mm +

12dm =12 x10 em =120 cm

158 m=15.8 x 100 cm = 1580 cm

5 km =5 x 100000 cm = 500000 cm

4m3dm2cm=4><100cm+3><10cm+2cm
=400cm+30cm+2cm=432cm

82 mm =908 myp 'L_

13dm 5 cm =13 x 10 em +5 em = 130 cm +5 cm =135 cm
6km42m 12 cm = ¢ x 100000 cm + 42 x 100 cm +12 cm
= 600000 cm + 4200 m+12 cm = 604212 cm

7km =7 x 1000 m = 7000 .
42.65 km = 42.65 x 1000 m =42650 m

9.52km =957 1000 m = 9520 m
3km 255 m = 3 & 1000
8km 159 m =
32km42 m =

M +255 m =3000 m + 255 m =325 M
51000 m + 159 m = 8000 1 + 159 m =819

32 x ]000 m + 42 m= 32000 m + 42 m=32042n1‘
6m=6x 10 dm = g() dm

38m=38 « 10dm = 38 dm

173 m=1773 « 10dm = 173 dm
7m4dm=7><'
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,gm2m2dm =2x10000 dm + 2

o Lo0dm+2 dm =20022 dm " el 2m < 20000 -
Exercise-3
) mm = (O0+10)cm=5¢m
(25cm = (625+100) m=6m25cm
1 ogsem = (5285+100) m =52 m 85 ¢
1dm = (921+10)m=92m1 dm
P ordm = (827+10)m=82m7dm
- 0m = (8000+1000) km=8km
§ 9m = (9257+1000)km=9km 257 m
o 678m = (6578+1000)km=6km 578 m
Exercise-4
1 (@ 12kg = (12x1000) g=12000 g
b) 7kg256 g = (71000 +256) g = (7000 + 256) g =7256 g
(0 15kg15g = (15x1000+15) g =(15000+15) g=15015 g
. @ 19g = (19 x 1000) mg = 19000 mg
®) 25825 mg = (25x1000+25) mg = (25000 + 25) mg= 25025 mg
(0 82g82mg = (82x1000+ 82) mg = (82000 + 82) mg = 82082 mg
> @ 2387g = (2387+1000) kg=2kg387 g
b) 67005 = (6700+1000)kg=6kg 700 g
©) 8080g = (8080+1000)kg=8kg80g
i (@) 4200 mg = (4200+1000) g=4 g 200 mg
(b) 3255 mg = (3255+1000) g=3g255mg
() 7288 mg = (7288 +1000)g=7g288 mg
Exercise-5
"W g s (15 x 1000) £ = 15000 ¢
) 8xrg v

(¢)

= (8 1000+ 8) ¢ = (8000 + 8) £ = 8008 ¢
12ke 265 = (12 x 1000 + 265) £ = (12000 + 265) £ =12265 ¢
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2. (a) 287 = (28 % 1000) m £ =28000 m/£
(b)Y 77 270 me = (7> 1000+ 270) m? = (7000 + 270) ‘
(€) 10 ¢ 450 me= (10 = 1000 +450) m/ = (10000 -+~45())mg:10450 i
)

3. (@) 62000 ¢ = (62000 + 1000) k£ = 62 k?

=727,

(b) 7280 ¢ = (7280 +1000) k¢ =7 k¢ 280 £

(€) 15255¢ = (15255+1000) k¢ =15k’ 255 ¢

4. @) 2534 me¢ = (2534 +1000)¢=2¢ 534 m/

(b) 90508 m¢ = (90508 + 1000) £ =90 ¢ 508 m?

(c) 345678 m( = (345678 +1000) £ =345 ¢ 678 m/

Exercise-6
1. (@ 15m25cm+8m65cm (b) 75kg 250 g +62kg 127
= 23m90 cm =137kg377 ¢
1525 75 250
% + 62 127
R 137 377
(0 42km 175 m +69 km 675 m (d) 8¢455m¢+16¢285m!
=111 km 850 m =24 ¢ 740 m?
km m { m{
42 175
111 850
— 24 740
() 54Kkg 672 0467 ke , {
BB T07kg 372 (f) 330333 me+660666™
=122 kp 44 £
o o =99 £999 m!
(6’ 5 ¢ ml
67 372 + 66 666
122 044 59 999
— 99 99
Mathematics-4 (Term-2)
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WA IR (R ﬂ“m——-—-
S p 4

' 1+ 64 km 128 m
ag kI 756 m + 04

12
W (02 km 384 m

km m
28 206
192 384

_'—““‘—'—_——

kg 1008 - 17 kg 400 g
- 14kg 7008

kg 8

@

) ()

(¢) 55 km 625 m — 34 km 800 m

=20Km 825 m
km m
G
58" 625
- 34 800
20 825

(e) 81 kg 350 g — 73 kg 450 &
=7kg900 g
kg g
Bt 350
- 73 450
7 900

e —————s

8) 92 m 66 cm — 88 m 46 cm
=4m20cm

m cm

92 66
il 00
20

(h) 85m67cem+37m27 cm
=122 m94 cm

m cm
85 67

+ 37 .27
122 94

(b) 104 250 mZ~57 650 m/

=4/ 600 m/
/ m/
® @D
07 250
-5 650
4 600

(d) 27m40cm-19m25cm
=8m15cm

m cm
27 40
-19 25
8 15

—————————

(f) 88¢ 672mf—74¢ 900 m/

=13¢ 772m/

- mt

88 677

- 74 900

- /4 7

13 772

1o /72

(h) 72km 700 m — 66 km 825 m
=5km 875 m

km m
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7+ 4 ¢ 450 m/ y

T antity of milk -2 0250 m/ 2y |
3. Total qua % ]!
= 6 ( 700 mf ~\\£$f

6 "NE

4. Quantity of juice

- 20 200m¢ —J}
1 = 14 |
of juice drank by Rahul 750 m ‘
ftin the pack =2 ¢ 200m¢ =750 m¢
= 2200m¢ —750 m¢
_ 1450m? = 1£ 450 m¢
bles bought = 2kg400g+ 1kg550g

Quantity
.. Quanlity of juicc le

5. Total weight of vegeta

=3kg 950 g
6. Weightof apples bought by the shopkeeper = 9kg500g g
Weight of apples sold =4kg750g é
-. Weight of apples left with the shopkeeper 9 5
- 9kg500g-4kg750g -4 7) f
; ——— o
= 4kg750g aEY
7. Total distance travelled by Jeet = 5km 250 m + 3 km 450 m +600m
km. m = 9km 300 m
@
5 250
3 450
+0 600
9 300 So, total distance travelled by Jeet is 9 km 300m.

8. Length of the ribbon bought by Ritu
Length of the ribbon used
Length of the ribbon Jeft

32m ;
18m 75 cm %
=32m-18m75cm 4 o f
= 13m25cm _B8EE

ngth of the ribbon Jeft with Ritu is 13 m 25 cm
9. The weight of .

So, le

a watermelon

=3
The Weight of a p kg 525 g

=2kg750¢

=3kg525g-2kg750¢g
= 775g

I than Papaya by 775 g.

D

apaya
Difference jn Weights

So i
» Walermelon ig heavia

Mathematics-4 (Term-2)
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Exercise-7

@ m™oom b) kg g
® Q@

50 80 - £ 290

X 3 X 7

152 40 30 030

50m 80 cm x 3 =152 m 40 cm 4kg290g><7=30kg30g

© km m d ¢ my |
0 Q0 @
9 12
y . g : 12 190
— ' x 8 i
82 080

97 520
9km120m><9=82km80m

122190 m¢ x 8=97 £ 520 m¢

© kg g (f) kg g
® @ . ©0I0)

13 113 | 14 290

X 6 i ¥

. x 5
78 678 71 450
—_0 B = oL

Bkg113gx6=78kg 678 14kg290gx5=71kg450 ¢

; (a) Converting 89 m 84 cm into cm.
|

1123
89m 84 cm = (8900 + 84) cm = 8984 cm 8) g934
Now divide 8984 cm by 8. 09
8984 cm +8=1123 cm i
18
Now converting it into m. : -16
1123cm-.-.,(1123+100)m=i11 m23 cm gi
ThUS,89m84cm+8=1lm23C1n .—"—‘-(—)——
D Mathematics-4 (Term-2)
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(b)

(c)

(d)

(e)

Converting 17 kg 983 & into g.

17 kg 983 g= (17000 + 983) g = 17983 &
Now, divide 17983 & by 7.

17983 g +7=2569 &

Now converting it into kg.

2569 g = (2569 +1000) kg=2kg 5698
Thus, 17 kg 983 g+7=2 kg 569 g

Converting 36 £ 504 m{ into m{.

36 £ 504 m¢ = (36000 + 504) m¢ = _36504 m/
Now, divide 36504 m/ by 8.

36504 m/{ + 8 = 4563 m{

Now, converting it into £.

4563 m{ = (4563 + 1000) £ = 4¢ 563 m¢
Thus, 36/ 504 m¢ + 8 = 4¢ 563 m/

Converting 60 cm 8 mm into mm.

60 cm 8 mm = (60 x 10 + 8) mm = (600 + 8) mm = 608 mm
Now, divide 608 mm by 2.

608 mm + 2 =304 mm Zﬁ%
Now converting it into cm. 18'(}‘5/ |
304 mm = (304 +10) cm = 30 cm 4 mm ___'—§/
Thus, 60 cm 8 mm +2 =30 cm 4 mm 0
Converting 50 kg 670 ginto g. 56?-8
50 kg 670 g = (50000 + 670) g = 50670 ? :ﬁél/
Now, divide 50670 g by 9. 7
50670 g + 9 =5630 g -%
Now converting it into kg. 2

=
="

5630 g = (5630 + 1000)
Thus,

_

kg=5kg 630 g
50kg670g+9=5kg63og

D

\
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(f) Converting 280160 m¢ ingg m¢,

: 2560
28( 160 m? = (28000 + 1 60) m¢ = 28160 ms " g %g 160
Now, divide 28160 m¢ by 11, T 61—
. -55
28160 M0+ 11 = 2560 m¢ —--—;)-Z_.._
Now converting it into ¢, ~-66
2560 m{ = (2560 +1000)¢ = 2¢ 56() my _88
-—_'—'—-.
Thus, 280160 m? + 11 = 20 560 my —_0
3. Distance travelled by Ruchi in a week 21345
=149 km 415 m 7)_}29‘”5
Distance travelled by Ruchi in 1 day 09
' -7
=149 km415m+7 T
=149415m +7 -21
31
=21345 m kb
=21 km 345 m 35
-35
50, Ruchi travelled 21 km 345 m distance in a day. 0
L Weight of one bag of rice=7 kg 690 g kg g
Total weight of 7 bags of rice (;) CZ)%
=7kg690 g 7 .
=53kg830g 53 830

>0, the total weight of 7 bags of rice will be 53 kg 830 &

5. 1 X
lotal Capacity of 14 containers 25 ? ;
4) 36218
= 36¢ 218 m/ . )..23
“ap acity of one container = 36¢ 218 m¢ + 14 =70
=26218 mé + 14 121
36218 m 313
= 2587 m{ gg
_*-—'—';"_‘-
=2¢ 587 m! Lo s B
%0 the Capacity of one container 1s 2¢ 587 m ;
Mathematics-4 (Term-
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1.

-+ (@) 5625g = (5625 + 1000 kg

- (@) 2748 m¢ = (

Mental Maths Corner

(a) (iii)
9em1mm+1 cm9mm=10c
(b) (iv)

(@ (i)
10450m(+11 (,’550m£?=12£71000m€=131;’

(d) (i)

72 0772 me = (72 x 1000+ 772) m& = (72000 +772) mé = 7277, .
(e) (ii)

36 cm 6 mm = (36 x 10 + 6) mm = (360 + 6) mm =366 mm

m10mm=11cm

(a) 4000 (b) 9200 (c) 15455 (d) 7000
(e) 12250 (f) 1847

Review Exercise

.(@6m = (6x100)cm = 600 cm

(b)7dm = (7x10)ecm = 70 cm
()5m4cm = (5x100+4) cm = (500 +4) cm = 504 cm
(d)7m3dm2cm=(7><100+3><10+2)cm=(700+30+2)cm=73205

-(@4cm = (4x10)mm = 40 mm

(b)25cm 6 mm = (25x10+6) mm = (250 + 6) mm = 256 mm
(c) 57 cm = (57 x 10) mm = 570 mm

. (@ 9km = (9%1000) m = 9000 m

(b)17km25m = (17 x 1000 +25)m

= = 17025m
(c) 28 km 375 m (17000 +25) m = 17

- (281000+375) m = (28000 +375) m = 287"

(b) 3835 g = (3835 -
(c) 2050 g = (2050« 1000) kg = kg 50
g
2748 + 1000) ¢ =
9036 +1000) ¢ -
() 7235me = (7235 +~10(‘)0) y

2¢ 748 m¢
9¢ 36 m¢
=7¢235m¢

(b)9036 m¢ = (

Mathematics-4 (Term-2)
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e R

”4'“7%c111+6m 85 cm

b
_ 11 m60cm (b) 18kg8408+25k87258

= 44
m c<m gk565g
® & 8
i 75 @
+6 85 18 840
160 *25 725
44 565
£ m¢
12 540
+32 245

—_——
44 785

7. () 11km 375 m - 7km215m (b) 78kg650g—56kg900g

= 4km 160 m = 21kg750 g
km m K
11 375 @g
4 160 = 56 900 o
: 21 750 i
(€096 ¢ 545m¢ — 47 ¢ 400ms = 49 7 145 m/ ol
¢ ome
96 545 I
— 47 400
: 49 145 i
@ 15kg9 5 =15009 ¢ ' 15009
15009 g x 13 =195117 ¢ —
N _
5kg9gx13=195kg 117 ¢ 195117 i
(b) k m¢
m m (0 t
22 075 9 125
x 8 x 9
— % 8 i
176 600 §2 125 o
2km75 mxg=176km600m 9125 mEx9=820125m¢
739 Mathematics-4 (Term-2)
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s

0, (a) 90 by 24y, = 00024 p, i d 20 Uk

GO + B 12000 - % -
12003 g, = (12000 + 1000) kg = 12 kg B g TG
’ Mﬁ%“'ﬂ-
RRUTH) STRZ IR 12 kg By 00
024
_m:i%
..__,____“__L
(b) 198¢ 570 m0 = 198570 m? 3304
6] 1985,
198570 m( + 6 = 33095 m/ :_l%_\
~1
33095 m¢ = (33095 * 1000)/ = 33 95 m# 357
-54
So, 198¢ 570 m/ +6=33¢95m/ _‘—“‘F
-30
(
9872
4) 39488
-36
(c) 39 km 488 m =39488 m g g
39488 m +4=9872 m 728
-28
9872 m = (9872 +1000) km =9 km 872 m — 08
S0,39 km 488 m +4=9km 872 m _______-og

HOTS

Fill the 3 7 bucket with water and pour it into the empty 5 / bucket. Fill
Iy
3 £ bucket again and pour it into 5 ¢ bucket to fill it. This leaves exact
the
1 Zin the 3 £ bucket. Empty the 5 ¢ bucket; pour the remaining 1 ¢ from

3 £ bucket into the 5 £ bucket. Fill the 3 ¢ bucket again and pour it 0t
5 ¢ bucket.

o the

The 5 ¢ bucket now has exactly 4 ¢ of water
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